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for j=n to 0do
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Algorithm 1 Algorithm: FFT

function FFT(ag,aq...,a,-1)
[assumes n is a power of two)
if n =1 then
return ag
(6(), €1, .. en/z 1) <— FFT((ao, as, ... ,an_g)
(d07dla--- n/2— 1) <—FFT(a1,a3,...,an,1)
fork=0 to §—1do
wk e

Y, — ey, + wkd”
Yk+nj2 < €k — whd*

return yg, Y1, ..., Yn—1
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Algorithm 2 Algorithm: FFT-INVERSE

function FFT-INVERSE(aq, aq, ..., a, 1)

[assumes n is a power of two)
if n =1 then

return q
(€0; €1, ..., €nja—1) < FFT-INVERSE(ag, dg, - - - , an—2)
(do,dy,...;dn/2-1) < FFT-INVERSE(ay, as, ..., ap_1)
for k=0 to §—1do

k _ 2mik

w4 e

Ui < ~(ep, + whdr)

Yktn/2 %(ek — wkdFk)

return yg, Y1, .., Yn—1
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